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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-10_0
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P3-10

RriE) | EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS AR

06:55 294 150.0 2.888 [(Z=| FhHA@O6:55 kENFEF (KA{EEER)
07:40 294 150.0 2.888 (Z=| FhHA@O7:40 KENIEF (CRA{EEIEE)
08:25 294 150.0 2.888 (Z=| 7FmHA@O8:25 kENFEF (RA{fEEIER)
09:30 294 150.0 2.888 (Z=| FhHA@09:30 kENFEF (RAfREE)
10:20 294 150.0 2.888 |Z x| TiHA@10:20 KENFEF (RAEREES)
11:05 294 150.0 2.888 [(Z=| FaHA@11:05 kENFEF CRAfEEER)
11:50 294 150.0 2.888 (£ =| FaHA@11:50 KENFEF (RA{EREEE)
12:30 294 150.0 2.888 [Z=| ThHA@12:30 kENIEF (CKRAHEERE)
13:15 294 150.0 2.888 (£ =| FhHA@13:15 KENFZEF (RAIEEEE)
14:00 294 150.0 2.888 |Z=| FnHA@14:00 KEFEHF (CGRABEREE)
14:45 294 150.0 2.888 [Z=| ThHAe14:45 kHEIEF CGRAFEESR)
15:35 294 150.0 2.888 (Z=| FmHA@15:35 KENFEF (RA{EEER)
16:35 294 150.0 2.888 |Z x| FnHle16:35 KEIEF (KRAEREE)
29t 3822.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.7

F[EKECE (1803.0 vs 3560.0) 15
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P3-10

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:05 283 150. 0 2.888 S| {Ri&e07:05 Bal (REAERHSE)
07:45 283 150.0 2.888 BE| {Ri&e07:45 B (REAEHE)
08:50 283 150. 0 2.888 BE| 1Ri%e08:50 Bz (RF{EREE)
09:35 283 150. 0 2.888 BE| {Ri8&e09:35 Bl (REAEESE)
10:20 283 150.0 2.888 BE| Ri8@10:20 Bzl (REAEHE)
11:00 283 150. 0 2.888 BE| Ri%e11:00 B (RF{EREE)
11:35 283 150. 0 2.888 el Bi%e11:35 Bz (REERSE)
12:05 283 150.0 2.888 el Rige12:05 Bzl (REAEHSE)
12:40 283 150. 0 2.888 BE| BRi%e12:40 Bz (GGREAERESE)
13:15 283 150. 0 2.888 e BRi%e13:15 Bz (REERSE)
13:50 283 150.0 2.888 B 1Rige13:50 Bah (REAEESE)
14:25 283 150.0 2.888 BS| 1Ri%e14:25 Bz CGREMEESE)
15:00 283 150. 0 2.888 el Rige15:00 Bal (REEESE)
15:40 283 150.0 2.888 BE| Rige15:40 Ba (REAEHSE)
16:25 283 150.0 2.888 BS| 1Ri%e16:25 Bz (GREMEESE)
17:30 283 150. 0 2.888 S| Ri%e17:30 B (RF{EREE)
23t 4528.0 (16)%) 2400. 0 32933 %EC: 2080.0, PH: 5.8
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HEEIKECE (1847.0 vs 3877.0) 15

153.0), AlEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)
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m=890,n FV0=0
-o— ME
0 -
5 -
0 -

890 895 900

m=510, FV0=0
—e— ME
26. 25 -
26. 00 -
25. 75 -
25. 50 -
25. 25 -
25. 00 -
T T T
510 515 520
m=665,m FV0=0
- ME
28.5 -
28.0 -
27.5 -
T T T
665 670 675
m=785,m FV0=0
- ME
28.5 -
28.0 -
27.5 -
785 790 795
m=930,m FV0=0
28.0 - —o— ME
27.5 -
27.0 -
26.5 -

930 935 940




m=975, FV0=0

27.75 A

27. 50 A

27. 25 A

27.00 A

26. 75 A

26. 50

M_E

950 9é5
m=470,n FV0=0
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—o— MW
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45 -
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P3-10

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:05 283 150.0 2.888 B 1Rige07:05 Bzh (REEESE)
07:45 283 150.0 2. 888 BE| 1Ri%e07:45 B3 (GGREAERESE)
08:25 283 150.0 2. 888 BE| {Ri&e08:25 B (REEEE)
09:10 283 150.0 2.888 RSl Ri&e09:10 Bal (REEHE)
10:05 283 150.0 2.888 BS| 1Ri%e10:05 Bz (GREMEEEE)
10:55 283 150.0 2. 888 sl {Ri&@10:55 Bal (REEESE)
11:35 283 150.0 2.888 S| 1Rige11:35 Bah (REERESE)
12:15 283 150.0 2.888 BE| Rige12:15 Bz (REAERE)
12:55 283 150.0 2. 888 S| 1Ri%e12:55 Bz (GRF{EREE)
13:30 283 150.0 2.888 el Rige13:30 Bal (REAERESE)
14:10 283 150.0 2.888 BE| Rige14:10 Bz (REAERE)
14:50 283 150.0 2. 888 BE| 1Ri%e14:50 Bz (RF{EREE)
15:30 283 150.0 2.888 S| 1Rige15:30 Bah (GREAERESE)
16:20 283 150.0 2.888 BE| Rige16:20 BHal (REAEHE)
17:20 283 150.0 2. 888 BE| Ri%e17:20 B (RF{EREE)
Bit| 4245.0 (15%%) 2250.0 3 WUFHKEC: 2080.0, PH: 6.0

MERRNER S STREAERS (184.0 : 150.0), AJEEHF—RZ XA45)
2RI\ PRIERE150. 0 ml.
HERECE (1887.0 vs 4143.0) i H 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=69 (2025-06-10)
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200 -

150 -
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VI, V0, FRV, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET
2208 2300 12250

174

Warning: lcol [FVI',| "FVO’'] missing

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=440, FV0=0 m=475, FV0=0 m=535, FV0=0

M_E —o— ME 25 50 - —o— ME | 55 —o— ME
24.0 -
25. 25 1
26.0 1
235 25. 00 4
24,75 -
25.5 -
23.0 - 24,50 A
24. 25 25,0
T T T T T T T T T T T T
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P3-10

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

05:40 283 150.0 2.888 FH| 1BRi%@05:40 Bzh (KkABERESE)
06:40 283 150.0 2.888 FE| 1BRi%@06:40 B (FkAERSE)
08:15 283 150.0 2.888 |Z=| {Ri%e08:15 Bzl (KREAEREE)
10:00 283 150.0 2.888 |Z=| {Ri&e10:00 Bz (KEAEHSE)
11:05 283 150.0 2.888 |Z=| {Rige11:05 Bz (REEHE)
12:05 283 150.0 2.888 |Z=| {Rige12:05 Bz (REAEHE)
13:15 283 150.0 2.888 [/\if| 1Ri%e13:15 Bzh (GREEESE)
14:00 283 150.0 2.888 FH| 1Ri%@14:00 B3h (KAERSE)
14:45 283 150.0 2.888 FA| {Ri&e14:45 Bz (RAERSE)
16:00 283 150.0 2.888 [Z=| 1Ri%e16:00 B3h (FREEESE)
24t 2830.0 (10%%) 1500. 0 JEPUHKEC: 2080.0, PH: 6.0

MEREHLER 2 5 FEIELRT (184.0 :
ZRIALBRIERE153.0 ml.

FERECE (1897. 0 vs 4205.0) 145

153.0), AlEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=68 (2025-06-09)

150 A
100 A

50

(¢
200 -
150 -
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Warning: lcol [FVI',| "FVO’'] missing

976 1700 836 L 2000
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

300

200 -

100 -

e e e

1
ByInit !eD71 01:57: ET=1525 Fg=1800.0 Ro=350.0
oo o o

- 2000

- 1000

0 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

402z |1Z=z| B ([ B | B | B | B | BB | MW | m| & 5 | BB | BB | MW | 5 | A5 | A5 | A5 | AR | ™ 5
300

200 -

100 - — /‘\.\ i
Oh—a "o 2 o o r IJ_I\\I_—I\\:‘\\

ByEt @68 19:36: ET=1543 Fg=1800.0 Ro=nan & e ‘e e

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 20 21 22 23

19
40125 (25 (2 B | BB | BB | BB | BB |ER|ER| SR |55 |0W| B | ZE|(ZE|(ZE 25|25 (25 (25 B [ B

300

100 -

|
200 - :
|
|

1
ByWoFv :@D71 01:57: ET=1252 Fg=1500.0 Ro=286. 0

- 2000

- 1000

0.8

0.6

0.4+

0.2~

0.0

1000 A

500 A

—_—
(] | _obs
—@— PPFD obs

_— T
o T obs
o

To_obs

oo f“ ® VP

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



27.

26.

26.

25.

25.

27.

27.

26.

26.

25.

27.

27.

26.

26.

m=370, FV0=0 m=415, FV0=0 m=525, FV0=0

24.00 |
- ME 25. 25 —8— ME | 55 004 - ME
23.75 25. 00
25.75
i 24. 75
23. 50 25 50 -
23.25 1 24997 25,95 -
24. 25
23.00 25.00
24. 00
22.75 24.75
T T T T T T T 23 75 B T T T T T T
400 600 800 1000 370 375 380 415 420 425 525 530 535
m=615,m FV0=0 m=670,m FVO=0 m=715,m FV0=0 m=765,m FV0=0
0 —e— ME | 275- —o— MmE | 2757 —— wE| —o— WNE
5 - 27 0 - 27.0 -
27.0 -
U 26.5 i
26.5 2.5
97 26.0
26. 0 - 26. 0 -
0 25.5
T T T T T T T T T 25 5 T T T
615 620 625 670 675 680 715 720 725 765 770 775
m=830,m FV0=0 m=865,m FV0=0 m=910,m FV0=0 m=965,m FV0=0
5 4 —e— ME 28 0 4 —e— ME —e— ME 21.5 1 —e— ME
27.5 -
0- 27.5 - 27.01
27.0 -
5 - 27.0 - 26.5 1
26. 5 -
0 - 26. 5 - 26. 0 -
26. 0 -
5 - 26. 0 - 25.5 -
830 835 840 865 870 875 910 915 920 965 970 975
m=1020m FVO0=0 m m=370,m FV0=0 m=415,m FV0=0
46 40 4 44
5 - -e— ME —— MW —— MW
441 43 -
42 38 1
01 42
40
5 1 38 - 36 A 41 -
36 - 40
0 - 24 34
- MW 39 -
1020 1025 1030 400 600 800 1000 370 375 380 415 420 425



m=525, FV0=0

45 A

44 -

43 -

42

41 -

M_W

m=765,m FV0=0

44

43 -

42

41 -

40 -

M_W

m=965,m FV0=0

44 -

43 A

42

41 -

M_W

m=615, FV0=0

45

44 -

43 -

42

41

40 -

—— MW

615

T T
620 625

m=830,m FV0=0

44 -

43 A

42 ~

41

40 -

39 A

—— MW

830

T T
835 840

m=1020m FV0=0

45 -

44

43 -

42 -

—o— MW

1020

1025 1030

m=670, FV0=0

45 -

44 -

43 -

42 -

41 -

40 -

—— MW

650
m=865,n FV0=0

44

43 A

42 -

41 -

40 -

—— MW

875

m=715, FV0=0

44

43

42

41 -

40 -

—0—

T
725

m=910,m FV0=0
44 —o—
43
42
41
40

920




hour

© 00 N N J O O

1
12

13

14:
14:
15:
:05
16:

16

:00 -
105 -
:00 -
:05
140
15
:00
140
:20
10:
:30
:00
12:
13:
145

100

80

- 60
55

- 40

35
10

20
55
30

55

§_



P3-10

BYiE) | GEBATIK () | ERE (EA/) | EREE(B/R) | XS ERE

07:05 283 150.0 2. 888 s {Ri&e07:05 Bl (REEESE)
07:40 283 150.0 2.888 RS {Ri&e07:40 B (REAEHE)
08:15 283 150.0 2. 888 RS {Ri&e08:15 Bzl (REEREE)
09:00 283 150.0 2.888 A5 {Ri%@09:00 B (REERER)
09:40 283 150.0 2.888 RS {Ri&e09:40 Bl (REAERHE)
10:20 283 150.0 2.888 BS| 1Ri%e10:20 B (GREMEEEE)
10:55 283 150.0 2.888 RS Ri%@10:55 Bz (REERR)
11:30 283 150.0 2.888 | 1Rige11:30 Bzh (GREEREE)
12:00 283 150.0 2.888 S| Rige12:00 Bzl (REAEHE)
12:35 283 150.0 2. 888 e Rige12:35 Bz (REAERSE)
13:10 283 150.0 2.888 Bl Rige13:10 Bal (REAEESE)
13:45 283 150.0 2.888 BE| Rige13:45 BHa (REAEHE)
14:20 283 150.0 2. 888 B Rige14:20 Bz (REAERSE)
14:55 283 150.0 2.888 sl {Rige14:55 Ba) (REAEESE)
15:30 283 150.0 2.888 el Rige15:30 Ba (REAERE)
16:05 283 150.0 2. 888 BE| Rige16:05 Bzl (REAEHSE)
16:55 283 150.0 2. 888 el {Rige16:55 Bal (REAEESE)
2it] 4811.0 (17%) 2550. 0 3EUHKEC: 2080.0, PH: 6.0

MEREHERE STMAREARS (184.0 : 153.0), AIREHTF—@E XAH4
ZRIALBRIERE153.0 ml.
FHEHECE (1927.0 vs 3885.0) 145



P3-10_0, Day=67 (2025-06-08)

150 A

100 A
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2600 2600
947 055

754 3000 ~

d-1

FRV (ml plant-1)

- 2000

50
20 20 1000
Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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